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QUESTION 1

What is the outcome of the Python a == b operator? 

A. The variables will be added together 

B. The variables are compared to determine if they have the same value 

C. The variables are compared to determine if they have different data types 

D. The variables will be subtracted from each other 

Correct Answer: B 

 

QUESTION 2

Click the exhibit button. 

Which type of file is shown in the exhibit? 
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A. Puppet manifest 

B. XML file 

C. Ansible playbook 

D. XSLT file 

Correct Answer: C 

Reference: https://www.juniper.net/documentation/en_US/junos-ansible/topics/task/operational/junosansible-device-
facts-retrieving.html 

 

QUESTION 3

Which two statements about Ansible are correct? (Choose two.) 

A. All Ansible host and group variables must be defined in the /etc/ansible/hosts directory 

B. Groups can be nested and a device is allowed to participate in multiple groups 

C. Separate host and group variable files can be used for larger environments 

D. Groups cannot be nested and a device is allowed to participate only a single group 

Correct Answer: AB 

 

QUESTION 4

Click the Exhibit button. 

Referring to the exhibit, this snippet of code would represent which type of data? 

A. JSON object 

B. JSON array 

C. YAML sequence 

D. YAML mapping 

Correct Answer: A 
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Reference: https://www.juniper.net/documentation/en_US/junos-salt/topics/topic-map/junos-saltconfiguration-loading-
commiting.html 

 

QUESTION 5

Click the Exhibit button. 

Referring to the exhibit, what will be two results of this playbook before saving it to a file? (Choose two.) 

A. to include everything but the system/services 

B. to retrieve the committed configuration 

C. to include only the system/services 

D. to retrieve the candidate configuration 

Correct Answer: BC 
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